
NUMBER PRODUCT DESCRIPTION

XRAY MODEL RACING CARS,   K výstavisku 6992,  911 50 TRENČÍN, SLOVAKIASPARE PART LIST 25.01 Tel.:  +421-32-740 11 00 www.teamxray.com     e-mail: info@teamxray.com

358074 FOLDING SHOCK BOOT (4)
358084-S XB8 SHOCK RUBBER MEMBRANE BOTTOM RIBBED - SOFT (4)
358087-S XB8 SHOCK RUBBER MEMBRANE CELL - SOFT (4)
358111 XB8 FRONT SHOCK ABSORBERS 44.5MM – COMPLETE SET (2)
358131 XB8 ALU FRONT SHOCK BODY 44.5MM - SWISS 7075 T6 (2) 
358142 ALU SHOCK BODY NUT FOR SHOCK BOOT (2)
358150 ALU SHOCK BODY ADJ. NUT (2)
358162 FRONT SHOCK SHAFT 56MM (2)
358211 XB8 REAR SHOCK ABSORBERS 55MM – COMPLETE SET (2)
358231 XB8 ALU REAR SHOCK BODY 55MM - SWISS 7075 T6 (2)
358266 REAR SHOCK SHAFT 66.5MM (2)
358316 XRAY FRONT SPRING 69MM - 4 DOTS (2)
358343 XRAY REAR SPRING 82MM - 3 DOTS (2)
358783 ALU MOTOR MOUNT PLATE
358786 XB8E/XT8E ALU MOTOR MOUNT
359101 MOUNTING HARDWARE PACKAGE FOR XB8 - SET OF 134 PCS
359400 BODY CLIP (10)
359713 XRAY XB8 / XB8E „EAZY“ BODY
397311 XRAY STICKER FOR BODY - WHITE

SUGGESTED HUDY TOOLS & ACCESSORIES
101600 HUDY STEEL MINI CLAMP – EXTRA HARD STEEL
104005 HUDY AIR VAC - VACUUM PUMP - 1/8 OFF-ROAD
105110 HUDY TIRE STICK 1/8 ON-ROAD, 1/8 OFF-ROAD & 1/8 GT (4)
105251-K HUDY TIRE MOUNTING BAND - LARGE - BLACK (4)
105251 HUDY TIRE MOUNTING BAND - LARGE - PURPLE (4)
105500 HUDY UNIVERSAL TIRE BALANCING STATION
105510 WHEEL ADAPTER FOR 1/8 OFF-ROAD CAR, TRUGGY & RALLY GAME
105590 HUDY WHEEL BALANCING PUTTY
106000 HUDY DRIVE PIN REPLACEMENT TOOL (FOR 3mm PINS)
106050 SET OF REPLACEMENT DRIVE SHAFT PINS 3x14  (10) 
106200 HUDY MAGIC CLEANING GUM
106205 HUDY WASH BOX
106210 HUDY GRAPHITE GREASE
106213 HUDY JOINT GREASE
106220 HUDY BEARING GREASE
106221 HUDY BEARING GREASE - EXTRA
106222 HUDY BEARING GREASE - PREMIUM
106230 HUDY BEARING OIL
106232 HUDY BEARING OIL - PREMIUM
106281 HUDY BODY FIX 28g/1oz
106290 HUDY ULTIMATE SOLDER 3M LENGTH
106337 HUDY PREMIUM SILICONE OIL 375 cSt - 50ml
106338 HUDY PREMIUM SILICONE OIL 375 cSt - 100ml
106340 HUDY ULTIMATE SILICONE OIL 400 cSt - 50ml
106341 HUDY ULTIMATE SILICONE OIL 400 cSt - 100ml
106342 HUDY PREMIUM SILICONE OIL 425 cSt - 50ml
106343 HUDY PREMIUM SILICONE OIL 425 cSt - 100ml
106345 HUDY ULTIMATE SILICONE OIL 450 cSt - 50ml
106346 HUDY ULTIMATE SILICONE OIL 450 cSt - 100ml
106347 HUDY PREMIUM SILICONE OIL 475 cSt - 50ml
106348 HUDY PREMIUM SILICONE OIL 475 cSt - 100ml
106350 HUDY ULTIMATE SILICONE OIL 500 cSt - 50ml
106351 HUDY ULTIMATE SILICONE OIL 500 cSt - 100ml
106352 HUDY PREMIUM SILICONE OIL 525 cSt - 50ml
106353 HUDY PREMIUM SILICONE OIL 525 cSt - 100ml
106355 HUDY ULTIMATE SILICONE OIL 550 cSt - 50ml
106356 HUDY ULTIMATE SILICONE OIL 550 cSt - 100ml
106357 HUDY PREMIUM SILICONE OIL 575 cSt - 50ml
106358 HUDY PREMIUM SILICONE OIL 575 cSt - 100ml
106360 HUDY ULTIMATE SILICONE OIL 600 cSt - 50ml
106361 HUDY ULTIMATE SILICONE OIL 600 cSt - 100ml
106362 HUDY PREMIUM SILICONE OIL 625 cSt - 50ml
106363 HUDY PREMIUM SILICONE OIL 625 cSt - 100ml
106365 HUDY ULTIMATE SILICONE OIL 650 cSt - 50ml
106366 HUDY ULTIMATE SILICONE OIL 650 cSt - 100ml
106367 HUDY PREMIUM SILICONE OIL 675 cSt - 50ml
106368 HUDY PREMIUM SILICONE OIL 675 cSt - 100ml
106370 HUDY ULTIMATE SILICONE OIL 700 cSt - 50ml
106371 HUDY ULTIMATE SILICONE OIL 700 cSt - 100ml
106375 HUDY ULTIMATE SILICONE OIL 750 cSt - 50ml
106376 HUDY ULTIMATE SILICONE OIL 750 cSt - 100ml
106380 HUDY ULTIMATE SILICONE OIL 800 cSt - 50ml
106381 HUDY ULTIMATE SILICONE OIL 800 cSt - 100ml
106390 HUDY ULTIMATE SILICONE OIL 900 cSt - 50ml
106391 HUDY ULTIMATE SILICONE OIL 900 cSt - 100ml
106410 HUDY ULTIMATE SILICONE OIL 1000 cSt - 50ml
106411 HUDY ULTIMATE SILICONE OIL 1000 cSt - 100ml
106420 HUDY ULTIMATE SILICONE OIL 2000 cSt - 50ml
106421 HUDY ULTIMATE SILICONE OIL 2000 cSt - 100ml
106430 HUDY ULTIMATE SILICONE OIL 3000 cSt - 50ml
106431 HUDY ULTIMATE SILICONE OIL 3000 cSt - 100ml
106440 HUDY ULTIMATE SILICONE OIL 4000 cSt - 50ml
106441 HUDY ULTIMATE SILICONE OIL 4000 cSt - 100ml
106450 HUDY ULTIMATE SILICONE OIL 5000 cSt - 50ml
106451 HUDY ULTIMATE SILICONE OIL 5000 cSt - 100ml
106460 HUDY ULTIMATE SILICONE OIL 6000 cSt - 50ml
106461 HUDY ULTIMATE SILICONE OIL 6000 cSt - 100ml
106470 HUDY ULTIMATE SILICONE OIL 7000 cSt - 50ml
106471 HUDY ULTIMATE SILICONE OIL 7000 cSt - 100ml
106480 HUDY ULTIMATE SILICONE OIL 8000 cSt - 50ml
106481 HUDY ULTIMATE SILICONE OIL 8000 cSt - 100ml
106490 HUDY PREMIUM SILICONE OIL 9000 cSt - 50ml
106491 HUDY PREMIUM SILICONE OIL 9000 cSt - 100ml
106510 HUDY ULTIMATE SILICONE OIL 10 000 cSt - 50ml
106511 HUDY ULTIMATE SILICONE OIL 10 000 cSt - 100ml
106492 HUDY PREMIUM SILICONE OIL 11 000 cSt - 50ml
106493 HUDY PREMIUM SILICONE OIL 11 000 cSt - 100ml
106512 HUDY PREMIUM SILICONE OIL 12 000 cSt - 50ml
106513 HUDY PREMIUM SILICONE OIL 12 000 cSt - 100ml
106515 HUDY ULTIMATE SILICONE OIL 15 000 cSt - 50ml
106516 HUDY ULTIMATE SILICONE OIL 15 000 cSt - 100ml
106520 HUDY ULTIMATE SILICONE OIL 20 000 cSt - 50ml
106521 HUDY ULTIMATE SILICONE OIL 20 000 cSt - 100ml
106530 HUDY ULTIMATE SILICONE OIL 30 000 cSt - 50ml
106531 HUDY ULTIMATE SILICONE OIL 30 000 cSt - 100ml
106540 HUDY ULTIMATE SILICONE OIL 40 000 cSt - 50ml
106541 HUDY ULTIMATE SILICONE OIL 40 000 cSt - 100ml
106550 HUDY ULTIMATE SILICONE OIL 50 000 cSt - 50ml
106551 HUDY ULTIMATE SILICONE OIL 50 000 cSt - 100ml
106560 HUDY ULTIMATE SILICONE OIL 60 000 cSt - 50ml
106561 HUDY ULTIMATE SILICONE OIL 60 000 cSt - 100ml
106580 HUDY ULTIMATE SILICONE OIL 80 000 cSt - 50ml

106581 HUDY ULTIMATE SILICONE OIL 80 000 cSt - 100ml
106610 HUDY ULTIMATE SILICONE OIL 100 000 cSt - 50ml
106611 HUDY ULTIMATE SILICONE OIL 100 000 cSt - 100ml
107090 HUDY BEARING CHECK TOOL
107570 HUDY 17mm OFF-ROAD WHEEL NUT TOOL
107704 CHASSIS DROOP GAUGE SUPPORT BLOCKS 30mm FOR 1/8 OFF-ROAD - LW (2)
107717 CHASSIS DROOP GAUGE 0 TO -13 mm FOR 1/8 OFF-ROAD & TRUGGY
107720 CHASSIS RIDE HEIGHT GAUGE 17mm TO 30mm FOR 1/8 & 1/10 OFF-ROAD
107742 HUDY RIDE HEIGHT TOOL 20-30mm
107751 HUDY QUICK CAMBER GAUGE 1/8 OFF-ROAD 1°; 2°; 3°
107762 HUDY ADJUSTABLE CAMBER GAUGE 110mm
107763 HUDY ADJUSTABLE RIDE HEIGHT GAUGE 5-40mm
107780 HUDY ADJUSTABLE DROOP GAUGE 80~140mm
107783 HUDY DROOP GAUGE 70~140mm
107839 HUDY CLEANING BRUSH - EXTRA RESISTANT - 2.5“
107840 CLEANING BRUSH LARGE - SOFT
107841 CLEANING BRUSH LARGE - MEDIUM
107842 CLEANING BRUSH LARGE - STIFF
107843 HUDY CLEANING BRUSH - EXTRA RESISTANT - 2.0“
107846 CLEANING BRUSH SMALL - SOFT
107847 CLEANING BRUSH SMALL - MEDIUM
107848 CLEANING BRUSH SMALL - STIFF
107850 HUDY PERSONAL RACING DISPLAY
107855 HUDY PIT LED
107861 HUDY PROFFESIONAL RACING STOPWATCH XL DISPLAY
107865 HUDY ULTIMATE DIGITAL SCALE 300g/0.01g
107866 HUDY PROFFESIONAL DIGITAL POCKET SCALE 3000g/0.1g
107871 SELF-ADHESIVE FOAM STRIP (2)
107875 HUDY ULTRA DOUBLE-SIDED TAPE
107876 HUDY ULTRA THIN DOUBLE-SIDED TAPE - SINGLE STRIP (5)
107880 CHASSIS BALANCING SIMPLE TOOL (2 PCS.)
108170 HUDY OFF-ROAD & TRUGGY CAR STAND
108190 HUDY ALU PARTS TRAY
108192 HUDY ALU PARTS TRAY NARROW 215x50mm
108193 HUDY ALU PARTS TRAY LARGE 215x100mm
108195 HUDY ALU PARTS TRAY COMPACT - MAGNETIC & ANTI-SLIP
108202 FLAT SET-UP BOARD FOR 1/8 OFF-ROAD & TRUGGY
108213 PLASTIC SET-UP BOARD DECAL 449x562mm - 1/8 OFF-ROAD & TRUGGY
108701 FLAT SET-UP BOARD FOR 1/8 OFF-ROAD & GT
108702 FLAT SET-UP BOARD FOR 1/8 OFF-ROAD & GT - SILVER GREY
108703 FLAT SET-UP BOARD FOR 1/8 OFF-ROAD & GT - DARK GREY
108704 FLAT SET-UP BOARD FOR 1/8 OFF-ROAD & GT - TITAN
108705 FLAT SET-UP BOARD FOR 1/8 OFF-ROAD & GT - BLACK
108760 PLASTIC SET-UP BOARD DECAL 399x545mm - 1/8 OFF-ROAD & GT
108801 HUDY SET-UP STATION FOR 1/8 OFF-ROAD CARS & TRUGGY
108851 SET-UP STATION & SET-UP TOOLS  + CARRYING BAG FOR 1/8 OFF-ROAD CARS
108860 ALU NUT FOR 1/8 OFF-ROD SYSTEM (4)
108870 ALU SET-UP WHEEL FOR 1/8 OFF-ROAD (4)
109802 HUDY ALU TRAY FOR 1/8 OFF-ROAD DIFF & SHOCKS
109841 HUDY ALU TRAY FOR 1/8 OFF-ROAD DIFF ASSEMBLY
109860 HUDY ALU TRAY FOR SET-UP SYSTEM
109880 HUDY ALU TRAY FOR ACCESSORIES & PIT LED
107602 LIMITED EDITION - REAMER FOR BODY + COVER - LARGE
107612 LIMITED EDITION - EXHAUST SPRING / CASTER CLIP REMOVER
107643 LIMITED EDITION - ARM REAMER 3.0 mm
107644 LIMITED EDITION - ARM REAMER 4.0 mm
111030 PIN ADAPTER 3.0mm FOR EL. SCREWDRIVER
111035 PIN ADAPTER 3.5mm FOR EL. SCREWDRIVER
111063 LIMITED EDITION - UNIVERSAL HANDLE FOR EL. SCREWDRIVER PINS
111545 LIMITED EDITION - ALLEN WRENCH 1.5 mm
112045 LIMITED EDITION - ALLEN WRENCH 2.0 mm
112545 LIMITED EDITION - ALLEN WRENCH 2.5 mm
113045 LIMITED EDITION - ALLEN WRENCH 3.0 mm
132545 LIMITED EDITION - BALL ALLEN WRENCH 2.5 mm
170004 HUDY SHORT SOCKET WRENCH # 5.5MM
175035 LIMITED EDITION - SOCKET DRIVER 5.0 mm
175535 LIMITED EDITION - SOCKET DRIVER 5.5 mm
181030 HUDY SPRING STEEL TURNBUCKLE WRENCH 3mm
181031 ALU TURNBUCKLE WRENCH 3MM - SWISS 7075 T6
181034 HUDY SPRING STEEL TURNBUCKLE WRENCH 3 & 4mm
181040 HUDY SPRING STEEL TURNBUCKLE WRENCH 4mm
181041 ALU TURNBUCKLE WRENCH 4MM - SWISS 7075 T6
181050 HUDY SPRING STEEL TURNBUCKLE WRENCH 5mm
181090 HUDY SPECIAL TOOL FOR TURNBUCKLES & NUTS
181091 HUDY TURNBUCKLE WRENCH 3 & 4mm - V2
181110 HUDY BALL JOINT WRENCH
182016 HUDY WHEEL NUT & 3/4 SHOE FLYWHEEL MULTI-TOOL 1/8 BUGGY & GT
183011 HUDY PROFESSIONAL MULTI TOOL
188970 HUDY PROFESSIONAL TWEEZERS STRAIGHT
188971 HUDY PROFESSIONAL TWEEZERS CURVED
188980 HUDY BLADE HOBBY KNIFE WITH ALU HANDLE
188984 HUDY REPLACEABLE HOBBY KNIFE BLADES (10PCS)
188981 HUDY POCKET HOBBY KNIFE
188985 HUDY REPLACEABLE HOBBY KNIFE BLADES (5PCS)
188990 HUDY ULTIMATE BODY SCISSORS
189000 HUDY MICRO RC PLIERS SET + CARRYING BAG
190003 SET OF TOOLS + CARRYING BAG - FOR 1/8 OFF-ROAD CARS
190005 HUDY LIMITED EDITION TOOL SET + CARRYING BAG
190070 SET OF POWER TOOL TIPS 2.0, 2.5, 3.00mm + 4.0, 5.8 PHILLIPS
199011-H HUDY HARD CASE - 230x180x45mm - TOOL BAG SMALL
199060 HUDY ALU TOOL STAND
199120 HUDY 1/10 & 1/8 CARRYING BAG + TOOL BAG - EXCLUSIVE EDITION
199140 HUDY 1/8 OFF-ROAD & TRUGGY CARRYING BAG + TOOL BAG - EXCLUSIVE EDITION
199150 HUDY CARGO BAG - EXCLUSIVE EDITION
199155L HUDY TRAVEL BAG - LARGE
199157M HUDY HAND BAG - MEDIUM
199157L HUDY HAND BAG - LARGE
199170 HUDY TRANSMITTER BAG - LARGE - EXCLUSIVE EDITION
199171 HUDY TRANSMITTER BAG - COMPACT - EXCLUSIVE EDITION
199171-H HUDY HARD CASE - 185x220x145mm - TRANSMITTER SANWA MT44 & M17
199175 HUDY RADIO WINTER BAG - EXCLUSIVE EDITION
199176 HUDY HEAT PACK GEL
199184 HUDY CAR BAG - 1/8 OFF-ROAD
199190 HUDY TEAM RUCKSACK
199191 HUDY TEAM BACKPACK XL
199199 HUDY EURO POUCH
199213 HUDY SET-UP BOARD BAG 1/8 OFF-ROAD & GT
199214 HUDY SET-UP BOARD BAG 1/8 OFF-ROAD & TRUGGY
199241 HUDY SET-UP BAG FOR 1/10 & 1/8 OFF-ROAD CARS & GT
199270 HUDY LIPO SAFETY BAG
199271 HUDY LIPO SAFETY BAG - COMPACT
199280L HUDY OIL BAG - LARGE
199280L-H HUDY HARD CASE - 180x140x120mm - OIL BAG LARGE

199280M HUDY OIL BAG - MEDIUM
199280M-H HUDY HARD CASE - 140x110x95mm - OIL BAG MEDIUM
199290 HUDY ACCESSORIES BAG
199290-H HUDY HARD CASE - 235x190x75mm - ACCESSORIES / ENGINE BAG
199291-H HUDY HARD CASE - 135x85x75mm - ACCESSORIES / AIR VAC ON-ROAD
199292-H HUDY HARD CASE - 175x85x75mm - ACCESSORIES / AIR VAC 1/10 OFF-ROAD
199293-H HUDY HARD CASE - 175x110x75mm - ACCESSORIES BAG MEDIUM
199294-H HUDY HARD CASE - 215x90x85mm - ACCESSORIES / AIR VAC 1/8 OFF-ROAD
199295-H HUDY HARD CASE - 280x150x85mm - ACCESSORIES BAG LARGE
199296-H HUDY HARD CASE - 120x85x46mm - ACCESSORIES / STOP WATCH
199297-H HUDY HARD CASE - 320x220x145mm - ELECTRONICS
199310 HUDY PIT BAG
199380 HUDY PIT FOAM
199390 HUDY PIT APRON
199910 HUDY PIT MAT 750x1200mm
199911 HUDY PIT MAT ROLL 750x1200mm
199912 HUDY PIT MAT ROLL 600x950mm
199913M HUDY PIT MAT FULL COLOR 650x950MM
199913L HUDY PIT MAT FULL COLOR 650x1200MM
209065 HUDY COMPACT CLEANING TOWEL (10)
209073 HUDY EXCLUSIVE PIT TOWEL 1100 x 700
209080 HUDY LANYARD
209103 HUDY STICKERS FOR BODIES
286990 HUDY FACE MASK
293080 LEAD WEIGHTS 4x5g & 4x10g WITH 3M GLUE
293081 HUDY PURE TUNGSTEN WEIGHT 5g
293082 HUDY PURE TUNGSTEN WEIGHT 10g
293083 HUDY PURE TUNGSTEN WEIGHT 15g
293084 PRECISION BALANCING CHASSIS WEIGHT 10g (4)
293085 HUDY PURE TUNGSTEN WEIGHT THIN ROUND 15mm WITH M3 - 10g
293086 HUDY PURE TUNGSTEN WEIGHT THIN - RECEIVER - 24.5x24.5mm - 15g
293087 HUDY PURE TUNGSTEN WEIGHT THIN - SPEEDO - 31x26mm - 20g
293111 HUDY BRUSHLESS RC FAN 40mm - WITH EXTERNAL SOLDERING TABS
293113 HUDY BRUSHLESS RC FAN 40mm - WITH INTERNAL SOLDERING TABS
293404 ALU CLAMP SERVO HORN - KO PROPO, JR, SANWA, AIRTRONICS - 2-HOLE - 23T
293405 ALU CLAMP SERVO HORN - HITEC - 2-HOLE - 24T
293406 ALU CLAMP SERVO HORN - FUTABA - 2-HOLE - 25T
293497 ALU SERVO HORN - KO PROPO, JR, SANWA, AIRTRONICS - 2-HOLE - 23T
293498 ALU SERVO HORN - HITEC - 2-HOLE - 24T
293499 ALU SERVO HORN - FUTABA - 2-HOLE - 25T
293560 HUDY ALU WHEEL NUT WITH COVER - RIBBED (2)
293561 HUDY ALU REAR WING SHIM (2)
293561-O HUDY ALU REAR WING SHIM - ORANGE (2)
293561-K HUDY ALU REAR WING SHIM - BLACK (2)
293576 HUDY OFF-ROAD SPRING SET PROGRESSIVE SOFT-MEDIUM, ID 20.1mm, L=69mm (2)
293577 HUDY OFF-ROAD SPRING SET PROGRESSIVE MEDIUM, ID 20.1mm, L=69mm (2) 
294313 HUDY PINION GEAR - HARD STEEL - WIDE 7MM - 13T / 32 (MODULE 1.0)
294314 HUDY PINION GEAR - HARD STEEL - WIDE 7MM - 14T / 32 (MODULE 1.0)
294315 HUDY PINION GEAR - HARD STEEL - WIDE 7MM - 15T / 32 (MODULE 1.0)
294316 HUDY PINION GEAR - HARD STEEL - WIDE 7MM - 16T / 32 (MODULE 1.0)
294317 HUDY PINION GEAR - HARD STEEL - WIDE 7MM - 17T / 32 (MODULE 1.0)
294318 HUDY PINION GEAR - HARD STEEL - WIDE 7MM - 18T / 32 (MODULE 1.0)
296509 ALU COUNTERSUNK SERVO SHIM (10)
296509-K ALU COUNTERSUNK SERVO SHIM - BLACK (10)
296509-O ALU COUNTERSUNK SERVO SHIM - ORANGE (10)
296510 ALU COUNTERSUNK SHIM (10)
296510-B ALU COUNTERSUNK SHIM - BLUE (10)
296510-K ALU COUNTERSUNK SHIM - BLACK (10)
296510-O ALU COUNTERSUNK SHIM - ORANGE (10)
296510-V ALU COUNTERSUNK SHIM - VIOLET (10)
296530-B ALU NUT M3 - BLUE (10)
296530-K ALU NUT M3 - BLACK (10)
296530-O ALU NUT M3 - ORANGE (10)
296540-B ALU NUT M4 - BLUE (10)
296540-O ALU NUT M4 - ORANGE (10)
296540-K ALU NUT M4 - BLACK (10)
298010 HUDY HARDWARE BOX - DOUBLE-SIDED
298011 HUDY HARDWARE BOX - DOUBLE-SIDED - COMPACT
298012 HUDY PARTS BOX - 10-COMPARTMENTS
298013 HUDY SPRINGS BOX - 10-COMPARTMENTS
298014 HUDY PARTS BOX - 8-COMPARTMENTS
298015 HUDY PARTS CASE - 290 x 195mm
298016 HUDY TINY HARDWARE BOX - 4-COMPARTMENTS
298017 HUDY TINY ONE-PIECE HARDWARE BOX - 8-COMPARTMENTS
298018 HUDY TINY HARDWARE BOX - 8-COMPARTMENTS
298019 HUDY DIFF BOX - 8-COMPARTMENTS
298021 HUDY HARDWARE BOX - DOUBLE-SIDED - SMALL
298022 HUDY TINY HARDWARE BOX - 10-COMPARTMENTS
298025 HUDY PARTS CASE - 275 x 180mm
298100 HUDY TIN ROUND BOX 80x30mm

XRAY OPTION PARTS
303122 ALU SHIM 3x6x1.0MM (10)
303122-K ALU SHIM 3x6x1.0MM - BLACK (10)
303122-O ALU SHIM 3x6x1.0MM - ORANGE (10)
303123 ALU SHIM 3x6x2.0MM (10)
303123-K ALU SHIM 3x6x2.0MM - BLACK (10)
303123-O ALU SHIM 3x6x2.0MM - ORANGE (10)
303125 ALU SHIM 3x6x3.0MM (10)
303125-K ALU SHIM 3x6x3.0MM - BLACK (10)
303125-O ALU SHIM 3x6x3.0MM - ORANGE (10)
303126 ALU SHIM 3x6x5.0MM (10)
303126-K ALU SHIM 3x6x5.0MM - BLACK (10)
303127 ALU SHIM 3x6x4.0MM (10)
303127-K ALU SHIM 3x6x4.0MM - BLACK (10)
303128 ALU SHIM 3x6x6.0MM (10)
303128-K ALU SHIM 3x6x6.0MM - BLACK (10)
303129 COMPOSITE SET OF SHIMS 3x 3x6x1MM; 1x 3x6x2MM (2)
306310 ANTENNA (2)
308019 COMPOSITE SET OF SHOCKS SHIMS & NUTS (2)
333451 ALU ANTI-ROLL BAR PIVOT BALL 5.8MM - SWISS 7075 T6 - HARD COATED (2)
350910 XRAY XB8 C-HUB FRONT SUSPENSION CONVERSION SET
350912 XRAY XB8 ALU REAR UPRIGHTS - MULTI-ADJUSTABLE - SET
351159-S CHASSIS SIDE GUARD L+R - SOFT
351351 CARBON UPPER PLATE WITH TWO BRACE POSITIONS
352054 XB8 ALU FRONT SHOCK TOWER FOR SEMI-SPLIT BULKHEAD (4MM)
352120 XB8 COMPOSITE FRONT LOWER SUSPENSION ARM
352120-G XB8 COMPOSITE FRONT LOWER SUSPENSION ARM - GRAPHITE
352121-S XB8 C-HUB COMPOSITE FRONT LOWER SUSPENSION ARM - SHORT - SOFT
352121 XB8 C-HUB COMPOSITE FRONT LOWER SUSPENSION ARM - MEDIUM
352121-H XB8 C-HUB COMPOSITE FRONT LOWER SUSPENSION ARM - HARD 
352121-G XB8 C-HUB COMPOSITE FRONT LOWER SUSPENSION ARM - GRAPHITE
352133-M XB8 FRONT UPPER ARM - MEDIUM

352133-G XB8 FRONT UPPER ARM - GRAPHITE
352135 XB8 FRONT UPPER ARM FOR ARM WING - SOFT
352135-G XB8 FRONT UPPER ARM FOR ARM WING - GRAPHITE
352150 FRONT UPPER ARM BALL JOINT (2)
352150-G FRONT UPPER ARM BALL JOINT - GRAPHITE (2)
352160 STEEL MOUNTING BALL 6.8MM (2)
352170 STEEL ECCENTRIC BUSHING 0°  (2)
352174 STEEL ECCENTRIC BUSHING 1° - V2 (2)
352175 STEEL ECCENTRIC BUSHING 2° - V2 (2)
352179 COMPOSITE BUSHING & BALL MOUNT SET (2+2)
352180 STEEL BALL MOUNT (2)
352194 XB8 LEXAN® FRONT UPPER ARM WINGS IFMAR LEGAL - SET
352244 XB8 PB STEERING BLOCK LB
352244-G XB8 PB STEERING BLOCK LB - GRAPHITE
352245 XB8 C-HUB STEERING BLOCK LB WITH ALU INSERTS
352254 ALU STEERING BLOCK - SWISS 7075 T6
352273 ALU CASTER BLOCK 18° RIGHT - SWISS 7075 T6
352277 COMPOSITE C-HUB 16° RIGHT
352278 ALU CASTER BLOCK 6° RIGHT - SWISS 7075 T6
352279 COMPOSITE C-HUB 6° RIGHT
352283 ALU CASTER BLOCK 18° LEFT - SWISS 7075 T6
352287 COMPOSITE C-HUB 16° LEFT
352288 ALU CASTER BLOCK 6° LEFT - SWISS 7075 T6
352289 COMPOSITE C-HUB 6° LEFT
352293 STEEL C-HUB BUSHING (2)
352366 XB8 CARBON STEERING PLATE - 1 DOT (1+1)
352367 XB8 CARBON STEERING PLATE - 2 DOTS (1+1)
352370 XB8 ALU STEERING PLATE - SWISS 7075 T6 (L+R)
352372 XB8 ALU STEERING PLATE - SWISS 7075 T6 (L+R)
352378 XB8 ALU STEERING PLATE - SWISS 7075 T6 (L+R)
352489 XB8 FRONT ANTI-ROLL BAR 1.8MM
352490 XB8 FRONT ANTI-ROLL BAR 2.0MM
352493 XB8 FRONT ANTI-ROLL BAR 2.3MM
352494 XB8 FRONT ANTI-ROLL BAR 2.4MM
352495 XB8 FRONT ANTI-ROLL BAR 2.5MM
352496 XB8 FRONT ANTI-ROLL BAR 2.6MM
352498 XB8 FRONT ANTI-ROLL BAR 2.8MM
352583 XT8 ALU STEERING PLATE FOR SEMI-SPLIT BULKHEAD - SWISS 7075 T6
352621 ADJ. TURNBUCKLE M5 L/R 58MM - HUDY SPRING STEEL™ (2)
352625 ADJ. TURNBUCKLE M5 L/R 46MM - HUDY SPRING STEEL™ (2)
352652 BALL STUD 6.8MM (4)
352658 BALL STUD 6.8MM WITH BACKSTOP L=6MM - M3x8 (2)
352680 ALU COUNTERSUNK SHIM FOR BALL STUD (10)
353055 XB8 GRAPHITE REAR SHOCK TOWER FOR SEMI-SPLIT BULKHEAD 4MM
353056 XB8 ALU REAR SHOCK TOWER FOR SEMI-SPLIT BULKHEAD (4MM)
353115 COMPOSITE REAR LOWER SUSPENSION ARM - MEDIUM
353116-XH COMPOSITE REAR LOWER SUSPENSION ARM - X-HARD
353116-G COMPOSITE REAR LOWER SUSPENSION ARM - GRAPHITE
353124-H COMPOSITE SUSPENSION REAR ARM - LSM - RIGHT - HARD
353125-H COMPOSITE SUSPENSION REAR ARM - LSM - LEFT - HARD
353124-G COMPOSITE SUSPENSION REAR ARM - LSM - RIGHT - GRAPHITE
353125-G COMPOSITE SUSPENSION REAR ARM - LSM - LEFT - GRAPHITE
353130-G REAR UPPER INNER CAMBER LINK BALL JOINT - GRAPHITE (2)
353151-G RELIEF REAR UPPER OUTER CAMBER LINK BALL JOINT - GRAPHITE (2)
353185 XB8 COMPOSITE BUSHING FOR ALU REAR HUB CARRIER (2+2)
353191 XB8 CARBON REAR LOWER ARM PLATE 1.6MM (2)
353193 XB8 COMPOSITE REAR MUD PROTECTOR (L+R)
353250 XB8 CARBON BRACES FOR CHASSIS SIDE GUARDS - SET
353280 CARBON INSERT FOR MEDIUM REAR COMPOSITE BRACE - SET
353354 XB8 COMPOSITE REAR UPRIGHT LB
353354-G XB8 COMPOSITE REAR UPRIGHT LB - GRAPHITE
353366 XB8 ALU REAR UPRIGHT - SWISS 7075 T6 - V2
353394 CARBON EXTENSION FOR ALU REAR UPRIGHT (1+1)
353396 GRAPH. EXTENSION ALU REAR UPRIGHT - 2MM LOWER CAMBER LINK - 2 DOTS (1+1)
353420 REAR ANTI-ROLL BAR 2.0MM
353422 REAR ANTI-ROLL BAR 2.2MM
353425 REAR ANTI-ROLL BAR 2.5MM
353426 REAR ANTI-ROLL BAR 2.6MM
353428 REAR ANTI-ROLL BAR 2.8MM
353430 REAR ANTI-ROLL BAR 3.0MM
353432 REAR ANTI-ROLL BAR 3.2MM
353510 REAR WING
353512 LEXAN REAR WING - 1/8 OFF-ROAD
353513-K REAR WING - IFMAR - BLACK
353515 REAR WING - BLACK
353517 WICKERBILL REAR WING - WHITE
353517-Y WICKERBILL REAR WING - YELLOW
353561 ALU REAR WING SHIM (2)
354011-G CENTER DIFF MOUNTING PLATE SET - HIGHER - GRAPHITE
354814 BEVEL DRIVE PINION GEAR 14T - MATCHED FOR 46T LARGE BEVEL GEAR
354946-G COMP. CENTER DIFF SPUR GEAR WITH MOULDED-IN STEEL BUSHING 46T - GRAPHITE
355013 CENTER DIFFERENTIAL - LARGE - SET - V2
355022-G DIFFERENTIAL CASE - V2 - GRAPHITE
355048 CENTER DIFF SPUR GEAR 48T 
355050 CENTER DIFF SPUR GEAR 46T 
355051 CENTER DIFF SPUR GEAR 45T 
355052 CENTER DIFF SPUR GEAR 44T 
355064 FRONT DIFF OUTDRIVE ADAPTER LONG - V2 - HUDY SPRING STEEL™ (2)
355086 EXTREME HEAT RESISTANT F/R ALU DIFF PIN WITH INSERTS (2+4)
355215 CVD ADJUSTABLE DRIVE AXLE  - HUDY SPRING STEEL™ (2)
355222 UNIVERSAL DRIVE SHAFT - HUDY SPRING STEEL™
355250 ALU WHEEL AXLE - BLACK COATED (2)
355252 ALU WHEEL AXLE OFFSET “+2MM” - BLACK COATED (2)
355253 ALU WHEEL AXLE OFFSET “+3MM” - LIGHTWEIGHT - BLACK COATED (2)
355254 ALU WHEEL AXLE OFFSET “+4MM” - LIGHTWEIGHT - BLACK COATED (2)
355255 ALU WHEEL AXLE OFFSET “+5MM” - LIGHTWEIGHT - BLACK COATED (2)
355265 WHEEL NUT WITH COVER - HARD COATED (2)
355292 PIN WITH FLAT SPOT 3 x 16.8 (2)
355415 CENTRAL DOGBONE SHAFT UNIVERSAL JOINT - HUDY SPRING STEEL™ (2)
355432 FRONT CENTRAL DOGBONE DRIVE SHAFT 85MM - HUDY SPRING STEEL™ 
355635 REAR CENTRAL DOGBONE DRIVE SHAFT 111MM - HUDY SPRING STEEL™ 
355712 STEEL PINION GEAR - NARROW 5MM - 12T
355713 STEEL PINION GEAR - NARROW 5MM - 13T
355714 STEEL PINION GEAR - NARROW 5MM - 14T
355715 STEEL PINION GEAR - NARROW 5MM - 15T
355716 STEEL PINION GEAR - NARROW 5MM - 16T
355717 STEEL PINION GEAR - NARROW 5MM - 17T
355718 STEEL PINION GEAR - NARROW 5MM - 18T
355819 ALU PINION GEAR - HARD COATED - WIDE 7MM - 19T
355820 ALU PINION GEAR - HARD COATED - WIDE 7MM - 20T
355821 ALU PINION GEAR - HARD COATED - WIDE 7MM - 21T
355822 ALU PINION GEAR - HARD COATED - WIDE 7MM - 22T
355823 ALU PINION GEAR - HARD COATED - WIDE 7MM - 23T

355824 ALU PINION GEAR - HARD COATED - WIDE 7MM - 24T
356161 SELF-ADHESIVE RUBBER 1.5x13x51.5MM (2)
356165 VELCRO BATTERY STRAP 25x210MM (2)
356240 XB8E/XT8E GRAPHITE FAN HOLDER FOR SADDLE PACK ALTERNATIVE 2.5MM
357230 FRONT LOWER OUTER PIVOT PIN (2)
357253 BRASS ADJUSTING NUT M15x1 (2)
357254 COMPOSITE BALL CUP 13.9MM (2)
357257 PIVOT BALL CAMBER ALU SHIM 6x13x1.5 (2)
358027 2-WAY FLOW DELRIN SHOCK PISTON 5-H. (1.5MM) & 2-H. (1.0MM) (2)
358028 2-WAY FLOW DELRIN SHOCK PISTON 6-H. (1.3MM) & 2-H. (1.1MM) (2)
358029 2-WAY FLOW DELRIN SHOCK PISTON 6-H. (1.4MM) & 2-H. (1.1MM) (2)
358030 2-WAY FLOW DELRIN SHOCK PISTON 8-H. (1.2MM) & 2-H. (1.2MM) (2)
358031 2-WAY FLOW DELRIN SHOCK PISTON 8-H. (1.3MM) & 2-H. (1.2MM) (2)
358082 SHOCK RUBBER MEMBRANE (4)
358083 SHOCK RUBBER MEMBRANE RIBBED (4)
358085 XB8 SHOCK RUBBER VALVE (4)
358087-M XB8 SHOCK RUBBER MEMBRANE CELL - MEDIUM (4)
358315 XRAY FRONT SPRING 69MM - 3 DOTS (2)
358317 XRAY FRONT SPRING 69MM - 5 DOTS (2)
358334 XRAY REAR SPRING 85MM - 2 DOTS (2)
358335 XRAY REAR SPRING 85MM - 3 DOTS (2)
358342 XRAY REAR SPRING 82MM - 2 DOTS (2)
358344 XRAY REAR SPRING 82MM - 4 DOTS (2)
358790 SHIM FOR ELECTRIC MOTOR
359714 XRAY XB8 / XB8E “EAZY” BODY - LIGHTWEIGHT
359808 WHEELS STARBURST - PINK (4)
359809 WHEELS STARBURST - YELLOW (4)
397312 XRAY STICKER FOR BODY - METALIC SILVER
397313 XRAY STICKER FOR BODY - PURPLE
397314 XRAY STICKER FOR BODY - NEON RED
397315 XRAY STICKER FOR BODY - NEON YELLOW
397316 XRAY STICKER FOR BODY - NEON ORANGE
397320 XRAY STICKERS FOR BODY - 5 DIFFERENT COLORS
397359 XRAY XB8 STICKER FOR BODY - WHITE
902407 HEX SCREW SH M4x7 WITH HEX FROM BOTTOM  (4)
902409 HEX SCREW SH M4x10 WITH HEX FROM BOTTOM  (4)
902412 HEX SCREW SH M4x12  (10)
930610 BALL-BEARING 6x10x3 STEEL SEALED - OIL (2)
930817 BALL-BEARING 8x16x5 STEEL SEALED - OIL (2)
931318 BALL-BEARING 13x19x4 STEEL SEALED - GREASE (2)
931319 BALL-BEARING 13x19x4 STEEL SEALED - OIL (2)
940611 BALL-BEARING 6x10x3 LOW RADIAL PLAY RUBBER SEALED  - OIL (2)
940817 BALL-BEARING 8x16x5 RUBBER SEALED - OIL (2)
941319 BALL-BEARING 13x19x4 RUBBER SEALED - OIL (2)
941320 BALL-BEARING 13x19x4 RUBBER & STEEL SEALED - GREASE (2)
960031 ALU NUT M3  (10)
964061 WASHER S 6x18x0.3  (10)
964062 WASHER S 6x18x0.5  (10)
964063 WASHER S 6x10x0.2  (10)
964064 WASHER S 6x10x0.3 (10)

HARDWARE
901303 HEX SCREW SB M3x3  (10)
901304 HEX SCREW SB M3x4  (10)
901305 HEX SCREW SB M3x5  (10)
901312 HEX SCREW SB M3x12  (10)
901408 HEX SCREW SB M4x8  (10)
901504 HEX SCREW SB M5x4  (10)
902256 HEX SCREW SH M2.5x6  (10)
902305 HEX SCREW SH M3x5  (10)
902306 HEX SCREW SH M3x6  (10)
902308 HEX SCREW SH M3x8  (10)
902310 HEX SCREW SH M3x10  (10)
902312 HEX SCREW SH M3x12  (10)
902314 HEX SCREW SH M3x14  (10)
902316 HEX SCREW SH M3x16  (10)
902318 HEX SCREW SH M3x18  (10)
902319 HEX SCREW SH M3x18 - LEFT THREAD  (10)
902325 HEX SCREW SH M3x25  (10)
902330 HEX SCREW SH M3x30  (10)
902335 HEX SCREW SH M3x35  (10)
902340 HEX SCREW SH M3x40  (10)
903308 HEX SCREW SFH M3x8  (10)
903310 HEX SCREW SFH M3x10  (10)
903312 HEX SCREW SFH M3x12  (10)
903410 HEX SCREW SFH M4x10  (10)
903412 HEX SCREW SFH M4x12  (10)
903416 HEX SCREW SFH M4x16  (10)
908203 HEX SCREW SOCKET HEAD CAP M2x3  (10)
908312 HEX SCREW SOCKET HEAD CAP M3x12  (10)
908314 HEX SCREW SOCKET HEAD CAP M3x14  (10)
908316 HEX SCREW SOCKET HEAD CAP M3x16  (10)
908318 HEX SCREW SOCKET HEAD CAP M3x18  (10)
908412 HEX SCREW SOCKET HEAD CAP M4x12  (10)
930816 BALL-BEARING 8x16x5 STEEL SEALED - GREASE (2)
940610 BALL-BEARING 6x10x3 RUBBER SEALED - OIL (2)
940816 BALL-BEARING 8x16x5 RUBBER SEALED - GREASE (2)
941318 BALL-BEARING 13x19x4 RUBBER SEALED - GREASE (2)
960026 NUT M2.5 - SHORT  (10)
960030 NUT M3  (10)
960040 NUT M4  (10)
961032 WASHER S 3.2  (10)
962130 WASHER S 13x16x0.2  (10)
962131 WASHER S 13x16x0.1  (10)
964030 WASHER S 3.5x12x0.2  (10)
964060 WASHER S 6x18x0.2  (10)
970100 O-RING 10 x 1.5  (10)
970121 O-RING 12.1 x 1.6  (10)
970160 O-RING 16 x 2.0  (10)
970180 O-RING 18 x 1.8  (10)
971034 SILICONE O-RING 3.4x2  (10)
971061 SILICONE O-RING 6x1.55  (10)
980261 PIN 2.5x11.5  (10)
980263 PIN 2.5x13  (10)
980314 PIN 3x14  (10)
980317 PIN 3x17  (10)

NUMBER PRODUCT DESCRIPTION NUMBER PRODUCT DESCRIPTION NUMBER PRODUCT DESCRIPTION NUMBER PRODUCT DESCRIPTION NUMBER PRODUCT DESCRIPTION

106210 HUDY GRAPHITE GREASE
106356 HUDY ULTIMATE SILICONE OIL 550 cSt - 100ml
106361 HUDY ULTIMATE SILICONE OIL 600 cSt - 100ml
106431 HUDY ULTIMATE SILICONE OIL 3000 cSt - 100ml
106471 HUDY ULTIMATE SILICONE OIL 7000 cSt - 100ml
302630 ADJ. TURNBUCKLE L/R 20MM - HUDY SPRING STEEL™ (2)
326177 COMPOSITE BATTERY CLAMP (2)
333450 ANTI-ROLL BAR PIVOT BALL 5.8MM (2)
351159 XB8 CHASSIS SIDE GUARD L+R
351191 XB8E‘25 ALU CHASSIS - SWISS 7075 T6 (3MM)
351203 COMPOSITE FRONT BUMPER FOR SEMI-SPLIT BULKHEAD
351301 BODY POSTS
351350 COMPOSITE UPPER PLATE WITH TWO BRACE POSITIONS
352009-C XB8 SEMI-SPLIT DIFF BULKHEAD BLOCK SET FRONT/REAR FOR COLLAR
352015 XB8 GEARBOX PINION HEIGHT INSERT (1+1)
352055 XB8 ALU FRONT SHOCK TOWER FOR SEMI-SPLIT BULKHEAD - LOWER
352073 XB8 GEARBOX DIFF HEIGHT INSERT (2+2) - V2
352084 XB8 COMPOSITE FRONT BRACE
352120-M XB8 COMPOSITE FRONT LOWER SUSPENSION ARM - MEDIUM
352135-M XB8 FRONT UPPER ARM FOR ARM WING - MEDIUM
352244-H XB8 PB STEERING BLOCK LB - HARD
352290 COMPOSITE BUSHING FOR ALU STEERING BLOCK (4)
352314 COMPOSITE SQUARE ADJ. ROLL-CENTER BUSHINGS - V2 (2)
352334 XB8 ALU FRONT UPPER ARM HOLDER FOR SEMI-SPLIT BULKHEAD 
352340 XB8 ALU FRONT LOWER SUSP. HOLDER FOR SEMI-SPLIT BULKHEAD - FRONT
352341 XB8 ALU FRONT LOWER SUSP. HOLDER FOR SEMI-SPLIT BULKHEAD - REAR
352368 XB8 CARBON STEERING PLATE - 3 DOTS (1+1)
352381 XB8 CASTER CLIPS (2)
352440 ALU ANTI-ROLL BAR CENTERING COLLAR 3.5x7.8x4.9MM (2)
352460 PIVOT BALL 5.8 (10)
352470 COMPOSITE BALL JOINT 5.8 (8)
352492 XB8 FRONT ANTI-ROLL BAR 2.2MM
352508 SERVO SAVER FOR SEMI-SPLIT BULKHEAD - GRAPHITE - SET
352516 XB8 COMPOSITE SERVO SAVER FOR SEMI-SPLIT BULKHEAD - GRAPHITE
352554 ALU SERVO SAVER PIVOT SHAFT WITH CHASSIS LOCK (2)
352561 SERVO SAVER SPRING PROGRESSIVE
352576 STEERING PLATE BUSHING (2)
352582 XB8 ALU STEERING PLATE FOR SEMI-SPLIT BULKHEAD - SWISS 7075 T6
352612 ADJ. TURNBUCKLE M4 L/R 45MM  - HUDY SPRING STEEL™ (2)
352634 ADJ. TURNBUCKLE M5 L/R 50MM  - SPRING STEEL (2)
352653 BALL STUD 6.8MM WITH BACKSTOP - M3 - NICKEL COATED (2)
352659 BALL STUD 6.8MM WITH BACKSTOP L=6MM - M3x11 - NICKEL COATED (2)
352664 COMPOSITE STEERING BALL JOINT 6.8MM - V3 (2)
352666 XB8 COMPOSITE RELIEF STEERING BALL JOINT 6.8MM - V2 (2)
352670 SERVO BALL JOINT  5.8MM (4)
353020 COMPOSITE REAR BRACE HOLDER
353057 XB8 ALU REAR SHOCK TOWER FOR SEMI-SPLIT BULKHEAD - LOWER
353082 COMPOSITE REAR BRACE - MEDIUM - M
353116 COMPOSITE REAR LOWER SUSPENSION ARM - HARD
353130 REAR UPPER INNER CAMBER LINK BALL JOINT (2)
353151 RELIEF REAR UPPER OUTER CAMBER LINK BALL JOINT (2)
353160 MOUNTING BALL 6.8 (4)
353170 PIVOT BALL 6.8 (4)
353333 XB8 ALU REAR LOWER SUSP. HOLDER FOR SEMI-SPLIT BULKHEAD - FRONT
353334 XB8 ALU REAR LOWER SUSP. HOLDER FOR SEMI-SPLIT BULKHEAD - REAR 
353354-H XB8 COMPOSITE REAR UPRIGHT LB - HARD
353370 SET OF COMPOSITE REAR HUB CARRIER SHIMS
353371 SET OF COMPOSITE LOWER ARM SHIMS
353424 REAR ANTI-ROLL BAR 2.4MM
353517-K WICKERBILL REAR WING - BLACK
353526 XB8 COMPOSITE REAR WING HOLDER FOR SEMI-SPLIT BULKHEAD
353565 COMPOSITE REAR WING SHIM - BLACK (2)
353580 COMPOSITE WING HOLDER BRACE WITH REAR BODY POST
354011 CENTER DIFF MOUNTING PLATE SET - HIGHER
354048 XB8E CARBON CENTER DIFF MOUNTING PLATE FOR CABLE HOLDER
354813 BEVEL DRIVE PINION GEAR 13T - MATCHED FOR 46T LARGE BEVEL GEAR
354846 FRONT/REAR DIFF LARGE BEVEL GEAR 46T - MATCHED FOR 13T PINION GEAR
354946 COMPOSITE CENTER DIFF SPUR GEAR WITH MOULDED-IN STEEL BUSHING 46T
355006 DIFFERENTIAL 46T - MATCHED FOR 13T PINION GEAR - SET
355014 CENTER DIFFERENTIAL SMALL WITH COMPOSITE SPUR GEAR 46T - SET
355022 DIFFERENTIAL CASE - V2
355031 STEEL DIFF BEVEL & SATELLITE GEARS - V2 (2+4)
355065 REAR DIFF OUTDRIVE ADAPTER - V2 - HUDY SPRING STEEL™ (2)
355072 LARGE CENTER DIFF OUTDRIVE ADAPTER - HUDY STEEL (2)
355084 F/R DIFF PIN (2)  
355091 F/R DIFF GASKET (4)
355211 CVD DRIVE AXLE  - HUDY SPRING STEEL™ 
355221 CVD UNIVERSAL DRIVE SHAFT 94mm  - HUDY SPRING STEEL™ 
355223 CVD UNIVERSAL DRIVE SHAFT 93mm  - HUDY SPRING STEEL™ 
355236 CVD DRIVE SHAFT COUPLING  - HUDY SPRING STEEL™ 
355237 CVD DRIVE SHAFT COUPLING  - HUDY SPRING STEEL™ 
355251 ALU WHEEL AXLE OFFSET „+1MM“ - BLACK COATED (2)
355261 WHEEL NUT - RIBBED - HARD COATED (2)
355414 CENTRAL CVD SHAFT UNIVERSAL JOINT - HUDY SPRING STEEL™
355427 FRONT CENTRAL CVD DRIVE SHAFT  - HUDY SPRING STEEL™ 
355471 DRIVE SHAFT LOCKING RING (2)
355472 DRIVE SHAFT BOOT (2)
355625 REAR CENTRAL CVD DRIVE SHAFT - HUDY SPRING STEEL™ 
356107 SADDLE PACK CARBON SERVO HOLDER
356128 COMPOSITE HOLDER FOR CABLES - SET
356130 COMPOSITE ONE-PIECE SPEEDO PLATE & RECEIVER BOX
356140 COMPOSITE SERVO MOUNT - SMALL (2)
356156 COMPOSITE BOX FOR MID-SIZE & SHORT BATTERY PACK (2)
356194 ALU MOUNT FOR RECEIVER BOX
356200 BRAKE/THROTTLE ARMS & STEERING SERVO ARMS - SET
357212 LOWER INNER PIVOT PIN F+R EUROS‘05 TQ (2)
357222 FRONT UPPER PIVOT PIN 4x45 (2)
357250 STEEL PIVOT BALL 13.7MM (2)
357251 ALU PIVOT BALL 13.7MM WITH STEEL SCREW (2)
357252 ALU ADJUSTING NUT M15x1 (2)
357254-G COMPOSITE BALL CUP 13.9MM - GRAPHITE (2)
357256 PIVOT BALL CAMBER ALU SHIM 6x13x1 (2)
357331 REAR LOWER OUTER PIVOT PIN SCREW 3MM (2)
358018 COMPOSITE SET OF SHIMS FOR SHOCKS - DELRIN (2)
358021 COMPOSITE SHOCK PARTS WITH KEYED BALL JOINTS
358032 SHOCK PISTON SET 8-HOLE (1.2; 1.3) 10-H. (1.1MM) - DELRIN - V3
358033 SHOCK PISTON SET 6-HOLE (1.2; 1.3; 1.4MM) - DELRIN - V3
358040 HARDENED SHOCK SHIMS (4)
358041 STEEL SHOCK BUSHING (2)
358043 COMPOSITE SHOCK BUSHING & SHIM (2+2)
358047 STEEL M3/M3 SCREW SHOCK PIVOT BALL WITH HEX (2)
358048 STEEL M4/M3 UPPER SHOCK MOUNT STAND OFF WITH HEX (2)
358057-K XB8/GT MULTI ADJ. 3-IN-1 ALU SHOCK CAP SWISS 7075 T6 + MEMBRANES (2)


